CHAPTER 4
ECONOMIC LOSS CONCEPT

Economic ~ loss  results ~ from  Schistosomiasis
morbidity has _been demonstrated by economi¢c coStS,
current productivity loss and future productivity loss.
Economic ™ costs borne by households ~in endemic area
represents the resources ‘which has been djverted towards
Schistosomiasis instead of bein channelld to other _best
alternative yses whic coud leld more returns Thus,
these economic cosftf which enc? [rf]asses both djrect and
Indirect cqsts, ects one of the economrc 055es 10
t?e community. However, this loss wriu have been avered
It the government |n|t|ated a control programme.

Another  so rce of economic loss. caused by
Schrsosomrasrs morbidity 1s current productivity loss as
deprcted chang mB health status f household members
|n en emrc area. eteriorat ron eath status. of

arse 0l members as C[evealed , (? nro ucrbrvrt
ecline in |n |vrdual
E)ro UC“VIrlYes he summatron of individual productivity-

0SS Justi ousehold productivity loss.

When all household roductivity loss are summed
to%ethe W? get total prodpucrvr 3/33 fS the who?
community . livin |n the endemic area |kewrse this
producti v ty loss would have been averted |f there' was a
control programme.

On the other hand, economic loss to the society
as a4 Ies It of poor school performance of children 13
ma nrf sted In two wa sfr_) Investment made on educatron
(i1) Lost f ure productivity.

4.1 EDUCATION INVESTMENT LOSS

Households and the qovernmen hoth deresge

sulfstantra resources on educa lon which is co sr

a O'an erpr Investment. The. rnvesément In e R
not nfade for 1tS on sake instead for exp ect %
futur returns fr?m the children Who are  fulure
pr%ductrve labour torce, thus when these children are
subjec poor . school performanee due
Schrstosomrasrs Infection t Implies loss to the
communr%/ Whl?h sacrificed’ its current consumptron on
anticipa r]on of the rnvestmet to pa¥ gcer refurns In
future through rncreased bour "productivity due to
knowledge acquired from education.
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4.2 NET PRESENT VALUE(NPV) APPROACH

As pointed earlier, investment in educatron IS a
long .term one, ~which requires huge jnitial prt%I on
anticipation of earnrng more 1IN future trou an
Increase in labour pro uctrvrty Thu a sitlation
where, there is no Schistosom iasi morbrdty investment
In education Is a viable project d NPV being
greater than . zero, However th he presence of

chistosomiasis, schoql chrIdren performance 1S bern%
affected as a refult Investment costs became hrﬁrher t
benefits eventually. pushes down the NPV to be Tess tha

zero - (negative), “implying such an |nvestment IS t
worthwhile.
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Bn = Benefits in year |
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Dd?ncoef”o rateears
The year beYng discounted.

NPV > 0 If ther no, Schistosomiasis g control
P(raoagragf_nge prevarls% hence investment in edu B
SIbI

NPV < 0 With the presence of Schistosomiasis, hence
investment in education is not feasible.

4.3 LOST FUTURE PRODUCTIVITY
Dunlop and Dratchenko (1364

tors w hich rnf ences lab ofur)t%roductrvrty are. %)

tn]e fa

The s 11 or Ua | |ca lon e worker (il)The
Intensity of his effort r\ the process of labour, or the
Intensity or work. (1i)The inpate ability of the worker,
that 1s his physical and mental energy.
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From these arguments It 1S cIear that, the
communr R R{ved of skilled aor alified ; ture
WOrkers as the children who are the futue abour

they are hampered to perform well on their studies due to
the” presence of. Schisosomiasis, hence they become In
future semi skilled if not unskilled at” all.  Also,
Schistosomiasis affects their physrcal and mental energy
as a result they become less productive in future.

4.4 COST CLASSIFICATION (PATIENT PERSPECTIVE)
DIRECT COSTS INDIRECT COSTS

é. Drugs & Travel cost _
o Lab~te Is . Bai-TEl feed costi incur
3. Co nsultation fees when seexing treatment. |
3. Output Joss™ during the time
of Seeking treatmént.
4. Reduced, Ibour pr duetrvrty
due to infection,

red

4.5 COST IDENTIFICATION AND MEASUREMENT

1) DIRECT COST
g This |Ss out of pocket payments made by households
when seekrng medical services to ‘treat Sc hstosomrasrs

DRUGS

Drug . cost incurred by households to trea
schrstosomrgsrs It s calct/rla as  number tI

praziguantel  doses consumed by a household member
multiplied by price of a single dose.

LAB TEST:

This 1s the COS} borne by household % as a result
0f dragnostrc tests per ormed to etec soso 1asis.
It calculated % pmber bor aordy tests
performed to a member muItrp led by prrce paid for a

single test.

PHYSICIAN FEES;
This |s ayment made each time, household

memtiers canu][ ggr?,cran |s calculat d 3
total number of ¢ tations made |n a year muItrpI
by price paid for one consultation.z

(2) INDIRECT COST

, ese are costs Dborne by households but not
directly related to treatment.
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These costs are identified and estimated as follows:
FOOD:

This includes any extra food purchased(apart
from normal household fodd consumption)  when seeking
treatment  valued at market price.

TRAVEL COST:

This involves t ransport cost incurred by patients
as. well as accomrnanre mem erw of he houSehold per
trip per year rs cos IS obftained through household
Interview as well by observation whereby” interviewer
come across local trans ort. It i1s calculated as total
numper of trips maePer year for all members, multiplied
by fare paid for one fri

QUTPUT LOSS DURING THE TIME OF SEEKING
TREATMENT.

Thrs is the Rportunrpr cost  of trme spent
seekrng reatment at the healh facrlrtsy Instead of
taking parlt %roductrve activities IS |mporané
because all Istosom iasis, cases are diagnosed an
treated . at drstrrct hosprtal This _ is |mputed bZ

ultiplyi er of hours lost in a
s rmyrrce 0f Ia%our in-the endemic area, T?trs method
o ass| nrng mar et value f production lost as a result

of morbidity, has Dbeen aIso adopted by Kamolratanakul,
and others yi d y g

REDUCED LABOUR PRODUCTIVITY:

This is an indirect cost arises from ingapacity
of househ?Id members t? Work at their full capacity, as
they are eeIrn% unwell due to schrstosomrasrs mfectro

| 1 '11 fference of roductrvrt between Jte time 4
ho sehod member rs free  from fection an wen IS
Inf prod uctrvr Ioss (unt)ts per a\ry IS
g ntr led rn m netar\yIt erm S0 as ain the value

pro

bour productivity index table
he reduced produclivity, Labour rodsetivity index ta

DECLINE IN .SCHOOL PERFORMANCE

T s IS an Indirect cost accrue to horlseholds in
terms lost ducatron investment ? well as lost
future productrvrty school chrdren. Future
productivity is di counted at present value to reflect
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the Jlost investment, as the children in future will be
working as semi skilled or unskilled workers.

4.6 COST EQUATIONS
4.6.1 DIRECT COST EQUATION:
Let 1 represent household members 1,2...

Let r,eprfsent tonal number of household members in a
particular household.

Let k represent households 1,2,.... K

Let Dgc represent drug cost for a dose of praziquantel,
incur[?ged b)? household gmembers of household k.IO q

Let Ltic represent laborator test charge for one
Ihaobog%toolayk Pest performed t% household gmembers of
us .

Let  Cfic  represent consultation fee paid for one
consultation sought by household members of household k.

Let Npilc represent number of praziquantel doses consumed
by hoBsehoI%l member 1 of house%old (L

et Ntile represent. number of laboratory tesns performed to
lﬁousehoIJ r%em er 1 of lfwousehofldp k. y d

Let NCic represent number of consultation visits made b
household mePnber | of household k y

Let TDCic represent tonal direct cost of household k
(1) Total drug cost for household Kk is:

(2 ) Total laboratory test cost for household k is:
Tltic = Ltic.% NHIE o SO
|=

(3 ) Total cost of consultation fees for household k is:
Tefic = CAIc £ NOIC o 3

1=1
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(4) Total direct cost for all households is:

1’
TDC= ¥ TIDg§ + TLty + TCE,

4.6.2 INDIRECT COST EQUATION:

Let Fee represent food cost per trip incurred by
hguseholdf membgrs of household k P d y

Let Trie represent travel cost per trip as incurred b
househofd members of household f< d d y

Let HIlik represent number of hours lost when seekin
treatment fopr household member 1 of household k J

Let Prie represent local pay rate per hour, for hours
lost by houseﬂold members ofphyouseholdpk

Let Plic represent units lost duge to reduced |abour
productivity for household member 1 of household k.

Let Mic represent market price of one unit Jost due to
keJulcvgg proHuctelvity for opusehold members o# ?muse o‘d

Let NTic represent number of trips made seeking treatment
for househc?ld member | of ?muse old k. J

Let Nolc represents number of persons in one trip, who
escorted househgl_d member 1 from household k to S(i&k
treatment at district hospital. (i.e. patient plus
accompanied members).

(5) Total extra food cost for household k is:

mr ol ™2 < f \Tm

~ = Fa. S
Lo Qyp £ Qg 2,

v

(6) Total travel cost for household k

m m ! AT T Al
ITTr INLijg NPik)

xk = 1Ix

||'[‘/1 o]

7) The value of oqutput loss during the time of seekin
) treatment for hogse[hold k?s: ’ J
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VOL, = Prit__| (Hliic NTiic Npile) ..vvvveevvvveecvvreesissessiissessinins 1

(8) The . value of the urfflts lest due to reduced
productivity for household k i

VRP, = MK £ ( PlK ) s b

(9) Total indirect cost for all households is:

TIC :kzl (TFd, + TTE 4 VOL + VRPK)ooooo 9

(10) Economic cost equation for all households is:

K
Lo A R — 10

4.6.3 INTERPRETATION OF THE COST EQUATIONS

From these cost equations, it is noticed that due
to the common feature of reinfection, for ajl treated
Schistosomiasis cases then,  the total cost of treating
the drsease IS brg?er This rs true ecause, . treatment of
%urrent In ectron s, the, onny coping mechanism available
or these 8eoge living in endemic area at the moment, as
there I1s no control measures for the disease.

However, equation 1C. presents. all the costs
assocrated with schrstosomrasrs morbrdrt rn an endﬁmrc
area Including the opportunity cost of t dﬂ see oP
treatment, o portunrty cost ‘of reduced productivity ue

t curren rnfectron d opportunrty cost of co P

a sent from worl% wen have ‘developed mor rty

m toms ma IS equatro estimates tofal cost B
ouseho rn the Schistosomiasis endemrc area whereby

ere IS control programme,

How brgger rs equation 10 ends on the
varrables such value of out ut Wh seekin
ue

dep

lost
rea entV ¥ vaue of outpu nrts lost to rducea
dTuc P rnrJ RP numger 0

result o ectronﬂv
persons accompanred with sick person to health facility
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Npit raveI fare er erson (Tr*
Sftf) p p ( )dose 0f lquantel (a

e SIN
ectlve erP for chlstos m|a5| treatment? Indica d
as Dg*. If ese cost components produced big figures they
will “make equa lon 10 more bigger and vice versd.

Thus, this equation tells health planners the
magnjtude of resources households in - endemic area are
spending so as to cope with the disease.

laborat oriyaztest charf
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